7E -

Ok - Ll (KTzFBR

RENIL

rH)

it e b b g

PA
12

& :8~500

10.97 B LN (ERD)

: M4~M56

FUE K S e z o
o [mevr| wEx mEvs|wez | 0 | 6
|
: V% O
M - [/ig - B M5 | 35 |06 | 8 | ,, | 92|08 | §
0
M6 4 | %025 0 | o | 6| 1 B
A=h-Bm LN M8 | 5.5 13 0 5| 12 | 0
z | M10 1 17 | -07 | 196 | 15
E M12 8 | +03 | 19 219 | 2 L
M14 9 22 o 284l 2 T
o MIE | 10 24| 5g |otT] 2
) M8 | 12 21 T o812 | 25
M20 | 13 30 34.6 | 2.5
/ K 0 M2 | 14 | £0.35| 32 371 | 25
! M4 | 15 36 416 | 3
T 0
) % M2T i sm |, 48] s
M30 | 19 46 "~ [ 831 35
M33 | 21 50 57.7 | 3.5
M36 | 23 55 63.5 | 4
M39 | 25 | +0.4 | 60 o 1693 4
M42 | 26 65 | _,, | 15 | 45
M45 | 28 10 1808 | 45
M48 | 30 15 86.6 | 5
- (2 ER/ED)

BE | 91X nE Y12 uE Y12 BE Y2 E YA
10.9004-8 M4 X8 10.9006-75 M6 X756 10.90010-50 M10X50 10.90014-55 M14X65 10.90018-65 M18X65
10.9004-10 M4 <10 10.9006-80 M6X80 10.90010-60 M10X60 10.90014-60 M14<X60 10.90018-70 M18X70
10.9004-12 M4 X12 10.9006-90 M6 90 10.90010-65 M10<X65 10.90014-65 M14<X65 10.90018-75 M18XT75
10.9004-15 M4 X156 10.9006-100 M6 100 10.90010-70 M10XT0 10.90014-70 M14XXT70 10.90018-80 M18<80
10.9004-20 M4<20 10.9006-110 M6 X110 10.90010-75 M10X 75 10.90014-75 M14 X765 10.90018-90 M18>X90
10.9004-25 M4 <25 10.9006-120 M6 <120 10.90010-110 M10<X110 10.90014-80 M14<X80 10.90018-100 M18><X100
10.9004-30 M4X30 10.9006-130 M6 X130 10.90010-120 M10<X120 10.90014-90 M14<X90 10.90018-110 M18<X110
10.9005-25 M5X25 10.9006-140 M6 X140 10.90010-130 M10<X130 10.90014-100 M14><100 10.90018-120 M18<X120
10.9005-30 M5X 30 10.9006-150 M6 X160 10.90010-140 M10<X140 10.90014-110 M14X110 10.90018-130 M18><X130
10.9005-35 M5X 35 10.9008-30 M8 30 10.90010-150 M10<X150 10.90014-115 M14 X115 10.90018-140 M18><X140
10.9005-40  [M5X40  |{10.9008-35 M8<35 10.90012-40 M12X40 10.90014-120 M14 X120 10.90018-150 M18 X160
10.9005-45  [M5X45 10.9008-40 M8<X40 10.90012-45 M12X45 10.90014-125 M14 X125 10.90020-90 M20<90
10.9005-50  [M5X50  |{10.9008-50 M8X50 10.90012-560 M12<X50 10.90014-130 M14 X130 10.90020-110 M20X<X110
10.9005-60  [M5X60 10.9008-55 M8X55 10.90012-65 M12X65 10.90014-140 M14X140 10.90020-120 M202<120
10.9006-8 M6 8 10.9008-60 M8X<60 10.90012-60 M12<X60 10.90014-160 M14 X160 10.90022-65 M22X65
10.9006-30  [M6X30  |{10.9008-65 M8XX65 10.90012-65 M12<X65 10.90016-45 M16XX45 10.90022-70 M22XT0
10.9006-35  [M6X35 10.9008-70 M8XT0 10.90012-70 M12X70 10.90016-50 M16X50 10.90022-75 M22XT5
10.9006-40  [M6X40  |{10.9008-90 M8 90 10.90012-80 M12<80 10.90016-55 M16 X565 10.90022-80 M22X80
10.9006-45 M6 45 10.9008-110 M8 X110 10.90012-90 M12X90 10.90016-60 M162<X60 10.90022-85 M22XX85
10.9006-50 M6 x50 10.9008-120 M8 X120 10.90014-45 M14X45 10.90016-65 M162<X65 10.90022-90 M22X90
10.9006-55 M6 X565 10.9008-130 M8 X130 10.90014-50 M14X50 10.90016-70 M16X70 10.90022-100 M22 X100
10.9006-60 M6 X 60 10.90010-35 M10X35 10.90014-65 M14X565 10.90016-90 M16 <90 10.90022-110 M22X110
10.9006-65 M6 X 65 10.90010-40 M10<X40 10.90014-60 M14X60 10.90018-55 M18<X65 10.90022-120 M22><X120
10.9006-70 M6XT0 10.90010-45 M10<X45 10.90014-65 M14<X65 10.90018-60 M18><X60 10.90022-130 M22 X130

10.90022-140 M22 X140
10.90022-150 M22 X150
XYL RUEXRT (1) BfiI:mm
XS YPYITRPER<SEBICRIEEHHDET
BRLELELTES ST TR

= ER?&T:H

TOMITARASHI
T146-0082 ﬁ?ﬁ%ﬂkﬂﬂ&iﬂ’,_ﬂ-ﬂ%

LTD

\ 03-3754-6228
5 03-3755-2913

D info@tomitarashi.com




